a0 "ERRIC K

Iz
/1L,

/)lb'legj]?r 7|_\
Z UTELRAL B—hRDIEFRSR

Iy ILiR, B

AT FARIETS

1 p.206{TE® R
2 p.29MD T (2.63) DHAIF
= lof + 22
2 p
MNELWTT,
3 p350%(2.92)0 2 HEEDOIE

w=Eino

-
MNIELWTY,
4  p350OR(2.94)D4FEHORIE

Vy = %sin@
r

MNIELWTT,

5 p.38D LM S D 2EFBHDH. T (2.106).

1 TH%o

o

>

n=1

X7 <.

6 P.38DH(2.112) (&
UR?
Z

-U +

w=w-U=

MNIELWTY,

7 P43DENSG61THD "ZDRATTOEICE 11 =
ICEICE <) RKEBELXT,

N> AR EEORITEAM) KRIHBED

8 P.53D10TED "THIEE LTIREI<) & ThEE LTE<)

9 pB7OR(3.37)D

L= MF(MY"”
a.

MNELWTY,
10 p.68OTHMS2TEDRIF

-1
B _|
a. r.

MNIELWTY,

REZENHLW, Z2 TE

SEODZLAE LW ITBELET,

N(2.107)DZ DAY —hDIEIFEQOT

FZDIRAT TDERR

‘—-'ﬂgIE L/ i -g-o



11T p.69DE3.5(0L)DTZ T7ADudus T,
12 p96DIfTHD T#AMRTHIxAMIC—KkMEZ, (& T#ARTHZxAHMEETHE
THhd07MAC—tkMEZ) ITBIELEXT,
13 po96D—&FHTDTORIE
du(r R’
TG
MIELWTT,

14 pO7OTHS54TED "TMTERLUTH S, & ThahTThsr BIEULW,
15 p.1020 1{7EDH(4.61)D

u(teo) =2U

HMIELWTT,

16 p.l05DI13TED "LA/IIAEEEDNSRIE, = L1 /)L AHICHEL TN
SIHMEE R BIE) ITBIELERD,

17 p107DOK(4.90)D Tay F£2£T Tas HIEL LN,

18 p.1150OK5.20#EE#HHPRDBEIFOTIFARLST10TH S,

19 p.l1150OK((5.26)DIRMEEEDT VYV ILDET Nijky (& Tijk ICTEEIREHD
M3 5.

20 pl116DK(B.32)DEAE2EDEFTD T+ (& -5 AIEULL,

21 p118DHK(BAC)DEAE2IEDESTD - (& T+ HIEL L,

=0

22 p1180H(547)DEIDTED r—§1 E r%J AEL L,

23 pl18DR(BA)DEIDEED f—%J P F%J AEL W,
24 pI3OTFAE2ATED TEDEIE, & THUE4E, AELWN,
25 p.1420%(6.66)D
K2

VT = Cyfy (RT*’yr,)_
AIELWTT,
26 p.151D1 ﬁE®y+=ociy+=100>|aaﬁi’éb\‘é‘¢o
27 p175QAFED Bk & B, 05%, KEELET.
28 p.1910(8.35)i4

m—

2 m rh

a2p+lu2p+l
p=0
MIELWTT,
29 pl1920(8.37)ik
al/l (2m)ih m—1

‘x) = za2p+16u2p+l (‘x)

p=0

ox



MNIELWTY,
30 p.192D=(8.39) (&

a2u (Zm)th m—1
a? (x) = ;a2p+162u2p+1 (x)
HMIELWTY,
31 p. 192D (8.41)l&
m—1
IT (2q+1y
Aypi = (_1)p P .
[T |2p+1) = (2q+1)’|
q=0.q#p

HELWTT,
32 p.201D=(8.82)&(8.83)Dp;, Ip), . H(B8B)Dp!,, Epr, , RENZNY,

1,J-1
Epil, p20200=(8.91)0(p;, )" (pp )" T
33 p204D4THOREFERETY,
34 p2130R(8.138)DRICY —RBORAKIF THD
b, = AYAYAZS, ,
EMAET. &5/, RITOKLHAICHB 70(8.138) 0ALERD 3 D DB G EH

eSS EEOICE S, 1 ZBIMULET,
35 p.236DT(A.37)Dx—rcosb lEx=rcosd T,

36 p2b1DEREZRIEHEZTNSOICEELET,



